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1. Land surface of earth is called
(A) Biosphere
(B) Earth crust
(C) Lithosphere
(D) Stratosphere

2. Which landform is famous as ‘Nature's
Kidney’?
(A) Land surface
(B) Wetland
(C) Desert
(D) Forest

3. Demography deals with
(A) Human ecology
(B) Human population
(C) Biogeography
(D) Human well-beings

4. Where Amazon Rainforest is located?
(A) Argentina
(B) Brazil
(C) Affica
(D) Venezuala

5. Which one of these is marked as ‘No Horn
Zone'?

(A) Playground
(B) Park

(C) Hospital
(D) Data Bank
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1. *fad7 yEeINs 3T W
(A) acfEa
(B) -9
(C) fcaifrata
(D) Fricoifena

2. (@R @E ofil oo g9 A s e
(A) ZeTerl
(B) @eiigfi
(C) Fgf
(D) awgfi

3. ‘cornaf @ R @ ww e
(A) BEmw et
(B) smw #ejmin
(C) et
(D) eEs -

4. e IR InwE @R e
(A) SITEToI
(B) aifem
(C) =izt

(D) CSTEEEl

5. fanfafioufm s @ml ‘@ ol (S T
fofere @a =m e

(A) & D
(B) =NF

(C) TH=irere
(D) ®ej-31e sy
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6. Which act is called as ‘Umbrella Act’?
(A) Air Act
(B) Water Act
(C) Forest Act
(D) Environment (Protection) Act

7. Name the disease caused by cadmium
pollution
(A) Itai-itai
(B) Minamata
(C) Diptheria
(D) Cholera

8. Write the full form of IUCN.
(A) International Union of Concentration
and Negotiation
(B) International Union of Conservation
of Nature and Natural Resources

(C) International Urban Conservation of
Nature

(D) International Union of Conservation
of Natural Resources

9. A process of ‘In-situ’ conservation
(A) Gene Bank
(B) Zoological Garden
(C) Forest
(D) National Park

10. Rhinocerosunicornisisa
(A) rare
(B) extinct
(C) critically endangered
(D) endangered

species.

(4)

6. fRfresfmz T worE  ‘Umbrella
Act’ T =T?
(A) I T
(B) Ta Wk
(C) 3= SZA
(D) (F=1) WA

(A) TR
(B) f=m=o
(C) fesirafaa
(D) IR

8. TUCN-~97 =71 31 &l |
(A) International Union of Concentration
and Negotiation
(B) International Union of Conservation
of Nature and Natural Resources

(C) International Urban Conservation of
Nature

(D) International Union of Conservation
of Natural Resources

9. «3f -G’ W™ oafe =
(A) &= =
(B) Tofemiai

(C) gl
(D) =TIy Wi

10. Rhinoceros unicornis <«

S |
(A) f@=

(B) Reg
(C) TF0I7w

——

(D) R=ts
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11. Carbon context is high in form of 11. FHwz ofame Farwre o= a7z
coal. Zgaa |
(A) Fut (A) 5
B i i '
. 7
) Ligni
(D) Anthracite (©) Frores
(D) WHLHAEL
12. Atmospheric ‘Brown Clouds’ are found 12. (B BWF TLLYF TR mR @ o
mostly in the areas of IrE?
(A) highblack carbon soot production zone (A) @277 S7F TR 37 Frree @@=
2’2 Eg: 1(\:1?)‘ priuct{on T (B) (<= T TR-TF Tz Srmee 2=
g » production area 2 ——
JFQ .'n -~ a? ’5— ?:—’.a; .(’ ' —“?‘m
(D) high methane production area © (-zﬁr e
(D) @I farew e &=
13. Which of the cities experiences highest 13. SREET WY @ =WhHE T4 TES
wind speed in India? siferas e TE 2
(A) Dehradun (A) e
(B) Bhubaneswar B
SRICEE]
(C) Mumbai ®) %
(D) Gangtok © TR
(D) ==
14. The state which has largest forest cover in 14. SRS W IS WIET HEwe E s .
India? (A) TRz
(A) Manipur
B) &=
(B) Kerala &)
(C) Madhya Pradesh (©) wge
(D) West Bengal (D) «ifsaa=
15. ‘TheNational Green Tribunal Act’ isenacted 15. ST TR S eSS g—
in India since =7
(A) 2007 (A) 2007
(B) 2010 (B) 2010
(C) 2011 (©) 2011
(D) 2012 (D) 2012
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16. The E-waste Management and Handling
Rules, 2011 (India) is applied t©
(A) the direct consumer
(B) the bulk consumer
(C) the Recycler
(D) All of them

17. The direction of movement of a cyclone
originated in Arabian sea is
(A) Clockwise
(B) Anti-clockwise
(C) dependent on the season

(D) dependent on the pressure condition
in Indian land

18. Which animal is called the "National
Heritage Animal’ of India?
(A) Royval Bengal Tiger
(B) Elephant
(C) Hanuman Langur
(D) Asiatic Lion

19. Which source(s) contribute(s) highest
amount of air pollution in India?
(A) Industries
(B) Domestic Cooking
(C) Diesel Generation
(D) Dust & Construction

20. The advantage of vermicompost is to
(A) make the soil acidic
(B) make the soil alkaline
(C) make the soil fertile
(D) make the soil neutral

(6)

e

16, ST TEIAE I SRS BT N at
Sroa, 2011 THR €9 TS

(A) FIHR ST LT TS (©TF
(B) ®<TT = sfesw &
(O q_:"z‘z-r. TF

‘D\ ..\:‘E !.z. & ﬁ_{!_a

(A) 2 ¥ o
(B) ‘Eﬁﬁé‘?‘?ﬁﬂ%’:‘f

{C) q\{i ihtzi'
(D) TEET TSI IFHT TILT W
ReT &2

18. e ReTeET T @FOF OIE TEI

A) TFF &FF oIRsiig
(B) TT

(C) =TT=

(D) <Rw= &%

19. (% BT (VT THE TR SEw Ig™

(A) T
(B) TR IW

(C) o= =R
D) & o [ o=

20. G051 R RN =

(A) ThE wte w
(B) Wb =% =z
(C) W 84 ==

(D) W soww a



21. Which one is organochlorine pesticide?
(A) Malathion
(B) Parathion
(C) Lindane
(D) Methyl parathion

22. Parmanent hardness of water is due to
presence of

(A) Carbonate salt
(B) Sulphate salt

(C) Biocarbonate salt
(D) All of the above

23. Noise can be measured through the unit
called

(A) Hertz

(B) Bel

(C) Joule

(D) Sound Level Meter (SLM)

24. Which of the following is an indicator of
organic water pollution?

(A) BOD

(B) pH

(C) Salinity

(D) Eutrophication

25, Blue Baby Syndrome is caused due to
(A) excessive sulphate in drinking water.
(B) excess chlorine in drinking water.
(C) excess heavy metals indrinking water.
(D) excess nitrates in drinking water.

(7)
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21. @ 05 @IS (oNa AR 2
(A) wrERfaEs
(B) =rifaEs
(C) femres
(D) faaiEs sraifawe

22. TETd P WR-9F IR 2=
(A) D F1ae
(B) HAETFO &12el
(C) RIICAAT 71t
(D) Torad b3

23, =% A FIF 9T T
(A) T
(B) &
©) g&1
(D) == Wofra TF

24. frfeResfm T ton o gaem
e ? i

(A) AR wRkes as
(B) f#. a5

(C) #Rres)

(D) TEGIria

25, et fére epmrera wrae® ze
(A) =1 e wiostam s
(B) A ers wiewianm @ifam
(C) =AM Tiee wfesman ol 1w
(D) A &t wfewrar 41305
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26. Which of the following phenomena is
interconnected with temperature of air and water?
(A) Tsunami

(B) Cyclone
(C) El-Nino
(D) Earthquake

27. Heavy metal propagates into the food chain
through

(A) Biomagnification
(B) Bioaccumulation
(C) Bioexcretion

(D) Biotransformation

28. Ecosphere is made up of the following:
(A) Atmosphere + Hydrosphere

(B) Atmosphere + Hydrosphere +
Lithosphere

(C) Atmosphere + Hydrosphere +
Lithosphere + Biosphere

(D) Atmosphere + Hydrosphere +
Lithosphere + Biosphere + Ecos ystem

29. The name of the Earth sumit occurred in
Johannesberg

(A) Rio*s
(B) Rjovlﬂ
(C) Rio*®
(D) None of the above

30. The percentage of forest usually present in
hilly region is

(A) 70%
(B) 33%
(C) 65%
(D) 60%

(8)
TR & GrFEE AE T AT
(A) 73
(B) AZZ=
(C) -
(D) g

z77

(A) ImETe e

(B) IATIEIE=H
(C) amzazie=m

(D) amzGmaEa=«

28. ZrPEaE =z 7n eftre weef S
(A) FgASH + Taas=

(B) AT + Towes + FEmes
(C) Tg=es + zmmes + Fmmes -

Sanes
(D) ¥I=es + woaes 4 TIEET +
BRA%T + AFeR
29. FREFAI-9 ST G s s
2
(A) Rio*
(B) Rio*!?
(C) Rio™®
(D) T2z @S =g
30. ATETE NG Wwret Forsfag wromar wH
FT?
(A) 70%
(B) 33%
(C) 65%
(D) 60%
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31. Gir forest present in
(A) Gujarat
(B) West Bengal
(C) Bihar
(D) Rajasthan

32. Name the plant which can reduce the
concentration of sulphur dioxide in air

(A) Banyan tree
(B) Neem tree
(C) Deodar
(D) Tulsi

33. What is the mean annual rainfall in West
Bengal?
(A) 700-1000 mm
(B) 1500-2000 mm
(C) >2500 mm
(D) <700 mm

34. In which year IPCC was formed?
(A) 1990
(B) 2007
(C) 1988
(D) 1992

35. Silent Valley is located in
(A) West Bengal
(B) Tamil Nadu
(C) Kerala
(D) Andhra Pradesh
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31, Ry uafze |
(A) %A
(B) Afsarars
(C) fazra
(D) aAr&Zi

32. @M Tfgn arerAa AEE ©E-CHErea
o1 FANA Golf AT 2
(A) a5 %
(B) forat #iiz
(C) 7wl
(D) g

33, Afssum sre afFe F@eicea Afaa
TG
(A) 700-1000 fafa
(B) 1500-2000 farfar
(C) 2500 Farfsi-azr cafs
(D) 700 fafa-97a @

34. IPCC =1 a7t =fefle =7+
(A) 1990
(B) 2007
(C) 1988
(D) 1992

35. ARG Sy w7 |
(A) Afeswars
(B) wifierargre
(C) @amETs
(D) g 2iracs
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36. The famous Kyoto Protocol was formed to
reduce the gas
{A) GHGs
(B) Argon
(C) Oxygen
(D) Nitrogen

37. In which state of India was able to regulate
the use and manufacture of plastic?
(A) Punjab
(B) Rajasthan
(C) Chandigarh
(D) Himachal Pradesh

38. In ‘Hydrological Cycle’ water passes
through
(A) Atmosphere
(B) Biosphere
(C) Hydrosphere
(D) Atmosphere & Surface Water

39. Match the following:

(a) Sub-tropical broad (d) Mapple forest of
leaf forest North Indian Hills

{(b) Tropical evergreen (e) Andaman-Nicobar
(¢) Mangrove forest (f) Sundarbans

(A) (a)-(d), (b)-(f), (c)-(e)
(B) (a)-(d), (b)-(c), (c)-(H)
(©) (a)-(e), (b)-(f), (c)-(d)
(D) (a)-(f), (b)-(c), (c)-(e)

40. Name the agent responsible for ‘Black Foot
Disease’

(A) Phosphorus
(B) Nitrogen
(C) Ozone

(D) Arsenic

(10)

37, RTEd I AEY AT AFE TRA @
oige foae FA0S I W
(A) g
(B) ArergI
(C) HSIIT
(D) fRsesraTel

38, “TEHEE T (@i MW A 23RS =
(A) e
(B) GRINGH
(C) weTsngs]
(D) IR @ G-+f9A T

39. fAsfaReafm crme ¢
(a) S4 GTIYS DSTIAA (d) Tex-oRres 1
T vt T
(b) e Baefae 3fB- () wmrIw-ficeRT
R
(c) ULaT® SR (f) AW
(A) (a)-(d), (b)-(F), (c)-(e)
(B) (@)-(d), (b)-(c), (c)-(F)
(© (@)-(e), (b)-(), (c)-(d)
(D) (@)-(D), (b)-(c), (c)-(e)

40, W@@Tﬁ‘iﬁ‘@mjmmw@?
(A) T57F
(B) WiRGITew
(C) etmm
(D) wnefas
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41. Name the gases responsible for acid rain 41. wqﬁ wRE T @G/ Ew W T
g (A) SO,
(©) CO, ®) NO.
(D) SO, & NOx
42. First ‘Earth Day’ was celebrated in 42, T3 e &= et AETE &
(A) USA (A) USA
(B) UK (B) UK
(C) Africa (C) Africa
(D) India (D) India
43. How many types of ecological pyramids are 43. Toul TREETE PRNe WE?
existing? (A) f=
(A) Three
(B) R
(B) Two ©) 5%
(C) Four 9ﬁ'5
(D) Five D)
44. Bio-plastics are plastics made from 44, AEAFTDT €T LA AP0 I 8 F
(A) vegetable fat (A) vegetable fat (T
(B) corn starch (B) corn starch (&
(C) pea starch C :
(D) All of the above (E): poastarch Gt
(D) THARI FIF0L
! 45. Plastic carry bags thickness should not be 45. 2rs I e Foer fAEReefi
[ less than T4 TS0 IW 26T 5%
(A) 20 micron (A) 20 W
(B) 30 micron (B) 30 W
(C) 40 micron (€) 40772
(D) 100 micron D) 100
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46. Human anatomical waste is under the
category of Biomedical wastes schedule
(A) Category No. 3
(B) Category No. 8
(C) Category No. 10
(D) Category No. 1

47. Natural aerosols in the air arise from
(A) Volcanoes
(B) Brown haze
(C) Smog
(D) Industrial Smoke

48. Black lung disease is caused by
(A) Silica dust
(B) Asbestos
(C) Beryllium alloy
(D) Coal dust

49. Chemical oxygen demand method is used
to measure the amount of used for
chemical reaction.

(A) CO,
(B) O,
) Oy
(D) CO

50. Chemically soft water contains little or no
dissolve, salts of &

(A) carbonates, bicarbonates
(B) magnesium, calcium
(C) sulphate, nitrate

(D) calcium, iron

{12)

46, ACICEE IE wifere SR Wiy
e T (IR (TS S
(A) Category No. 3
(B) Category No. 8
(C) Category No. 10
(D) Category No. 1

47, agfes qEPE-AY IO RS =
Rilcd
(A) smaEfafd
(B) mify AP
(C) carmmit
(D) TR

48. T R @I9-9T I A0 2
(A) FAferr @t
(B) SISCIHGA
(C) cafaferams wiery
(D) IWEAIT ST

49. e wfiem e % ez

W oUP SR T A e R
BIH (N |

(A) CO,

(B) 0O,

() 0,

(D) CO

50. TIPS 75 T a1 AW e S-S
W@Wﬁwmm“@.{i'
(A) IS, BB
(B) Wﬂmﬁm,m
(C) AETCEG, a1iRG5
(D) =7t g



51. Eutrophication resulted into
primary productivity of water body.
(A) high
(B) low
(C) moderate
(D) optimum

S2. Which one is water-borne viral disease?
(A) Cholera
(B) Typhoid
(C) Hepatitis-A
(D) Botulism

53. Name the particles having high penetration
power

(A) Alpha
(B) Beta
(C) Gamma
(D) Cosmic

54. Who invented the word ‘biodiversity’?
(A) Rosen
(B) Wilson
(C) Lovejoy
(D) Wallace

55. Indian Meteorological Department (IMD)
functions under the as warning systems
in disaster management

(A) Ministry of Earth Sciences

(B) Ministry of Environment and Forests
and Climate Charge

(C) National Disaster Management
Authority

(D) World Health Organization

(13)
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51. BTGREET T TEREE W A
CesamTel  F

(A) st

(B) W

(C) wRifE

(D) FEiCore! S WY

52. fasfeReafa g @Wb TeRite SiEam-
90 (lei?
(A) Sl
(B) DRRFGEE
(C) @ADRDA-9
(D) Jpferem

53. sfeRostr wug @m b e
Fifem ¢
(A) e
(B) i
(C) s
(D) AN

54. IreReEtiD =i @ wifiwE w0
(A) @itEs
(B) e
(C) sireey
(D) eaE™

55. Tasfefar AAfaiem ke odst ez ooy
Indian Meteorological Department frsffie @i
feitez wrgsfe 7

(A) Ministry of Earth Sciences

(B) Ministry of Environment and Forests
and Climate Charge

(C) National Disaster Management
Authority

(D) World Health Organization
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56. Which one of the following plays a critical
role in maintaining the ecosystem balance?
(A) Para species
(B) Sub-species
(C) Sibling species
(D) Keystone species

57. Chernobyl Disaster is caused by
(A) Organophosphorus pesticides
(B) Heavy metals contamination
(C) Nuclear reactor destruction
(D) Phosphate contamination

58. Maximum limit of arsenic in drinking water
according to WHO is

(A) 0-1 mgn
(B) -5 mg/l

(©) 1-0mg/l
(D) 0:05 mg/

59. Which one of the following causes global
warming?
(A) Radiative forcing
(B) Earth gravitation force
(C) Oxygen
(D) Centripetal force

60. What does NPP of human population stand
for?
(A) National Population Programme
(B) National Population Project
(C) National Population Policy
(D) National Population Production

Je

(14)

s6. EeRRvefa g @R IS ATy
o1 a1g o oF T FIe
(A) Para species
(B) Sub-species
(C) Sibling species
(D) Keystone species

57, GrRe ey~ F% ==
(A) Organophosphorus SO
(B) S 41gF T
(€) FEfemz RaRoR |
(D) T =

58. WHO =7l Rdifee =R om S

FE T =

(A) 0-1 mg/l
(B) -5 mg/l

(C) 1-0mgA
(D) 0-05 mg/1

59. Fsffoshm Wy @ iy Szmpe

FE9?

(A) Radiative forcing

(B) Earth gravitation force
(C) Oxygen

(D) Cetnripetal force

60. TTITID AT NPP-az spran werfy &

(A) National Population Programme
(B) National Population Project

(C) National Population Policy

(D) National Population Production
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61. Whatis the average amount of solarr

adiant o1, ampema Sofasi wiefes 9% N4
energy on th . . £
£) ;A) 1;;!1;!’\;; dl:nosphuu fafaeraifons =(faa wfasnd @@
mq (A) 21 kW/m’
(B) 1'2 kW/m? )
: (B) 1'’2kW/m
(C) 14 kW/m? (C) 14 KW/’
2. 2
(D) 24 kW/m (D) 24 KW/’
62. Which one is not a fossil fuel? 62. fmfafaoafaa s cafb  Eam-gref
(A) Coal e
(B) Biofuel (A) @3
(C) Diesel (B) Ceia-giaife
(D) Petrol () foree
(D) AT
63. Fly ash is emitted from _______. 63. Tuw wi fasfe @ @ @R
(A) Rice mill CT= |
(B) Wind mill (A) 4ls1F&
(C) Paper & pulp industry (B) amd fie
(D) Thermal power plant (C) (otol1a o1 2irst it
(D) siv-faye stz
64. In which state Kolaghat Thermal Power 64. @l wAfgIe AW @N AN
Plant is located? TRIES ?
(A) Maharashtra (A) T2
(B) Assam (B) SIS
(C) Tamil Nadu C
) Sifierg
(D) West Bengal (
(D) =f6w Agen
65. Application of Bio-geotextile process can 65. Ter-gama’ ofem R sy
reduce 1M Y TS ofie e
(A) Population density (A) SR TG
(B) Soil pollution (B) e el
£ St © form
oi
( (D) yfewa THae!
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66. Name the non-communicable disease from 66. fEEfreafa T @b "1\3‘”“‘?111;1?‘%1?
the following: (A) T35 @l
(A) Cancer (B) Tl (A4
(B) Tuberf:u]osis (C) St
(C) Malaria ﬁ@’[
(D) AIDS )
67. The main objective of The Wildlife 67. The Wildlife Protection Act, 1972-93
Protection Act, 1972 is 2 Sy =5

(A) to protect the wildlife. (A) INATwa FafHFs T4 |
(B) to conserve wildlife.

(B) IR AT H T4 |
(C) to restore wildlife habitat. (C) T AR =fegI= 51|
i i1dlife.
(D) to rehabilitate the wildlife D) AT S A 9

68. In which year the Articles 48A and 51A (g) 68. S WRYN SAREREE e S

for environment were introduced in the Indian 48A @R 51A (g) (T I27 Q@S T T ks
Constitution?

(A) 1986
(A) 1986 (B) 1972
(B) 1972 (C) 1974
(C) 1974 (D) 1976
(D) 1976
69. United Nations Council declared the 69. TOIT TG ‘AT T T
Water for Life’ for the years AT AU TN I |
(A) 2005-2010 (A) 2005-2010
(B) 2005-2015 (B) 2005-2015
© 2000-2005 (C) 2000-2005
(D) 2010-2015 (D) 2010-2015
?
70. Which one is not a primary pollutant? 70. FefEReska sy @ab erefie @e T
" (A) Ammonia (A) Wmﬁ'a;s :
(B) Sulpher dioxide (B) A=TR TG
(C) Carbon dioxide (C) T Ti-v3iize

(D) Peroxyacetyl nitrate (D) ~MasfFrmfEcEa w2ms
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71. Succession involves a turnover of species
during
(A) Season of the year
(B) Ecological time
(©) Microevolutionary time
(D) Macroevolutionary time

72. Name the radioactive element causes bone
cancer

(A) Thorium-22
(B) Strontium-90
(C) Radium-226
(D) Uranium-92

73. Which of the following is a water pollutant?
(A) Pesticide
(B) O;
(©) Co
(D) CH,

74. Which of the human ear part may be highly
affected by intense noise?

(A) Cochlea
(B) External pinna
(C) Ear canal
(D) Ear drum

75. Fire cracker release huge amount of
in air.
(A) Silica
(B) Particulate matters
(C) CO,
(D) Metals

ASCHP-I/Env. Studies/AECC-I/19

71. UGS Araopfi-ag WA el Fepfy
q0hH
(A) FB(I4 AH(S
(B) arsifga B
(C) Fufaada B
(D) RdfRada wie

72, (@ (TEfEE Gl qed 36 s R
IR

(A) Thorium-22
(B) Strontium-90
(C) Radium-226
(D) Uranium-92

73. fasfefReafer s @R s
(A) IO
(B) St@
(C) I TR
(D) foitas

74. FWEfROslER T TET wa S’
Ol FIET 19 A AAAE @ ey 2re
AR ?

(A) F=fora
(B) Afzsweffeian
(C) F<fiferm!
(D) =R 2/t

75. SISTAG &= IS 2ipe 2 fisfo
X r

(A) Fiferst
(B) gfEret
(C) T4 ©iz-s3izs

(D) 4y
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76. Broad leaf trees control ________. 76. HaTI#a BF ad
(A) Landslide (A) ghe . o
(B) Splash erosion (B) &4 @ TETOHTS ZIHE2
(C) Gully erosion (C) qErEY
(D) Soil erosion (D) gﬁﬁ?ﬂ
- . rel 2] ] @ e
77. Name the plant manufacture both power 77. @w FRAEl e ¢ AT TeTR B
and manure Fq0s ACI?
(A) Nuclear plant (A) sirzaieifas FFdE!
(B) Thermal plant (B) sioifagye F@AE

(C) Hydro-electric plant

e FEY!
(D) Biogas plant (C) Ty

(D) &S FELE!

78. The most of the rural areas in India is 78. SIISAE SAI%E FALE @
dependent on source of energy. g Ser Tog oA |
(A) sun (A) T
(B) electricity B) ﬁgqﬁf@

(C) methane gas

(D) wood and cow dung (C) fam== =i
(D) M € (57
79. The causative agent of Dengue disease is 79. Dengue-3 FFF0 25
(A) Fungus (A) =
(B) Virus & it
o 0 o
acteri
(D) e
80. The vector carrying malaria disease is 80. IR @R AT ==
; 2 (A) B ey s
(A) Female Anopheles mosquito ®) B B e
(B) Female Culex mosquito © il

(C) Male Aedes mosquito :
(D) Male Anopheles mosquito (D) =T Sp=REfesT s
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Space for Rough Work
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